Unit 1

Math 9 Adapted LG 1 - Expectation 1
Comparing Numbers: Decimals & Fractions

Turning a fraction into a decimal: 4% This means 4 wholes and one half.

To change to decimal form:
1. Thevalue to the left of the decimal is the whole number (in this case 4)

2. thevalue on the right of the decimalis the numerator + denominator.

would be 4.5 (Since 4 is the whole numberand 1+2=0.5)

4_
Fraction Decimal Fraction Decimal
3 50
3- b
4 100
1 500
6- >
2 1000
1 13
_ 8_
2 200
For negative fractions do the same
12 1 1 steps then put a negative in front ©
36 T2
15 1
17— -2—
100 20
151 3
1—— 72—
1000 10
2 43
100 100
2 7
1— -1 OO—100
100
13 130
8— =
2000 20
1 5002
33— _>7e
100 8




Unit 1

Turning a decimal into a fraction:
e Anythingto the left of the decimal is a whole number

e Numeratoris the number to the right of the decimal
e Denominator is the place value of the last digit

Decimal Place Value Chart

[ l =
2w o 2|2
2[2ls|g £ 2lsl28|8]|e.
gl2(e(E|2|alal2|2|B|B]8|8|E
s(El2|15|8|e|ls|E|5|sls|3|F]E
S(3IE(213|F(°[52|s5|2|é&ls|SMa
slelE |+ @ 2% |8 = A
5|7 & &2
2 =
i = ﬁ@
Whole part ° Decimal part ‘
SplashlLearn
Ex. 1 Write 3.75 as a mixed number.
. e 75
Since the place value of the last digit is in the hundredths column, 3.75 would be 3E

Ex. 2 Write 0.078 as a mixed number
78
Since the place value of the last digit is in the thousandths column, 0.678 would be ——

1000
Decimal Fraction Decimal Fraction

12.5 -4.1640

0.14 -0.01

7.245 0.005

-10.2 -5.0642
0.5678 -0.0006
7.0102 -1.0040




Unit 1

Reducing Fractions:

To reduce a fraction, divide the numerator (top) and denominator (bottom) by the same
number.

A number is divisible by.... | If it ends with...
2 0,2,4,6,8 (anevennumber)
5 Oor5
10 0
78 . . 78 _ 39
Ex.1.)—— divide the numerator and denominator by 2 —_—=
1000 1000 500
75 . . 75 3
Ex.2.) 3— divide the numerator and denominator by 5 3—=3-
100 100 4
Fraction Divide by... Reduced Fraction
***You may have to divide a
few times
20 20 _2_1
100 +10then+ 2 100 10 5
18
144
25
50
24
240
50
200
If itis a mixed number, only reduce the fraction
12
— - - 12 6 3
920 = 2 then+ 2 9=-92=9=
20 10 5
16
40
12
-2 —
24
28
1—
56




Unit 1

If the number on top
(numerator) is bigger than the
number on the bottom you
can write it as a mixed
number...

First: Turninto a

decimal (steps from

page 2)

Then reduce the fraction part

144
64

144 - 64 =2.25

25 1
2 —_—=2=
100 4

66

20

54

8

4754
16

200
20

200 +20=10

if you get a whole number your done ©

@:10
20

150
25

Now let’s try them all....

10
250

125

225
20

15
125




Unit 1

Comparing Numbers (integers)

o smaLLER LARGER W)

L o r r o1
D I N S I B I N S B B it
9432101213405
Circle the larger number:
5 or -2 1.2 or 1.3 0.573 or 0.580 -0.12345 or1 8 or 8.000001

*Remember with negatives the larger value is the smaller number: ex.-0.11 or-0.12

A
-5 or -6 -7.5 or -7.6. -6 or 1 -0.134 or -0.124 larger

Comparing integers with different a number of digits:

Remember that 0.7 =0.70 = 0.700 (you can add as many zeros as you like and keep the same value)

Ex. Which s larger? 0.359 or0.4

Since 0.4=0.400 Then 0.400 is larger than 0.359 0.359 or

Circle the larger number:

0.57 or 0.9  0.4593.0r0.12 0.200 or 0.44 -0.4 or -0.55 1.1 or 0.2
-0.3 or-0.3 0.44 or 0.44 11.00001 or 11.0001 -0.52034 or -0.06
Comparing fractions

You MUST convert to same form (either fractions or decimal) to compare.
Which is larger?

15 3 . 15.
— Oor = since 15+20=0.75 and 3+5=0.6 so—is larger.
20 5 4 20

larger



Unit 1

Which is larger?

1 2 .
s ory to compare they need a common denominator
. 1 2 6 2.
since-=— and - or — then - is larger
3 12 4 12 4
f

larger

Which is larger — show your work (either converting to a fraction or decimal — your choice)

Circle the larger fraction Show your work...

99
or
13 200

Circle the smaller fraction Show your work...

1
- or -
2

6 6
or
1000 10000

10 10
3 2
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Using symbols to compare numbers:
Symbols

< Less than =Equal > Greaterthan the symbol > OF < EATS 4 o S 3
the bigger number

Insert the correct symbol between each pair of numbers:

5 6 -4 -5 0.05 0.05 7.045 7.4

-0.7 -0.66 3.4 3.4 -0.865 -0.805 -2.0001 -2.001
11 1 999 45 42 1 1
22 2 1000 — O — 7 2 3

Finding numbers that fall between 2 numbers:

1. Convert to same form (either fraction or decimal)

1
Ex. 1 Find the numbers between Zand 0.3:

1
" =0.25 and 0.3=0.30. sothe numbers between are 0.26, 0.27, 0.28 and 0.29

Find the numbers between:
% and 0.53

- and 0.85

1 and0.938
16

g and 1.64

44 55
— and —
60 60
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Placing fractions on a number line.
Example 1: Place % on the number line shown

1. Since there is no whole number, the value lies between 0 and 1

2. We divide the space between 0 and 1 into 4 equal parts (because 4 is the
denominator).

3. Place your dot on the 3™ line to representz . } } } ;

Example 2: Place g on the number line shown

1. Since there is no whole number, the value lies between 0 and 1
2. Divide the space between 0 and 1 into 5 equal parts (because 5 is the denominator).
3. Place your dot on the 2" line to represent g

0 1 2 3

Example 3: Place 2%
1. Since we have 3 wholes, our value lies between 2 and 3.
2. Divide the space between 2 and 3 into 4 equal parts (because 4 is the denominator).
3. Place your dot on the 1 line to represent i.

Example 4: Place -‘I%

1. Since we have -1 whole, our value lies between -1 and -2.

2. Divide the space between -1 and -2 into 3 equal parts (because 3 is the
denominator).

3. Place your dot on the 1% line (moving towards the -2) to represent-1§ .
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Place the following numbers on the number line below:

1
Nlw
[N
N
olun

-1 0 1

Place the following numbers on the number line below:

1 1 1 1 3 1
-2- 4~ = 1= -= 3-
2 3 2 3 4 2

2 3

5 -4 -3 -2 -1 0 1

Place the following numbers on the number line below:

A7 145 0= -11=
6 3 2 3

—-20 —19 -18 —17 —-16 —15 —14 —13 —-12 —-11 -10 -9 -8 -7 -6 -5 —4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

In the space below, draw a number line and place these values onit:

A

v



Unit 1

Placing fractions on a number line.
Example: Place 4.5 and 3.7 on the humber line below.

It is easiest to think of decimal numbers as fractions. So, for 4.5, 4 is the whole and the 5 is
in the tenths column.

45=4> =4
10 2
a7 0, 1 2 3 4 5
3.7=3—
10
1. Place the following numbers on a numberline: 2.4 -3.1 4.3 -1.9

5 -4 -3 -2 -1 0 1 2 3 4 5

2. Place the following numbers on the line below: 4 -18 10.5 3.5 -3.5

-20 -19 -18 -17 -16 -15 14 -13 -12 -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

3. Place the following numbers on the line below: 6.3 - 4% -9.7 3%

10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

4. Write the values from question #3 in ascending order (from smallest to largest).

5. Place the following numbers on the line below: 3.6 -7— -2.1 6—

-0 9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

6. Now write them in descending order (from largest to smallest)

10
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Math 9 Adapted LG 1 - Expectation 2

Adding & Subtracting Integers

Modelling: Adding negative & positive integers using a number line.

Put a dot for your starting value, then move to the:
o RIGHT if adding positivity (+)

o LEFT if adding negativity (-)

Example 1.

(+4) + (+7) =

—20 -19 —18 —-17 —-16 —

Example 2.

15 —14 —-13 -12 —11 -10 -9 -8

(-8) + (+5) =

20

—20 —19 —18 —17 —16 —

Example 3.

15 —14 —-13 -12 —11 -10 -9 -8

(+4) * (7) =

20

—20 -19 -18 —17 —16 —

Example 4.

15 —14 —13 —-12 —11 -10 -9 -8

(10) + (-5) =

20

—20 -19 —18 —17 —16 —

Example 5.

15 —14 —13 -12 —-11 -10 -9 -8

(+20) + (-20) =

20

-20 -19 -18 -17 —-16 -15 -14 —-13 -12 -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0

1

8

9 10 11 12 13 14 15 16 17 18 19 20

11
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Answer the questions by using the number lines on the next page or by doing the

calculations in in your head.

Put a dot for your starting value, then move to the:

o RIGHT if adding positivity (+)
o LEFT if adding negativity (-)

(—8) + (-6) =
(+6) + (+9) =
(+6) + (+8) =
(—=6) + (-6) =
=7+ (=7) =
(+9) + (-6) =
(-9) + (=7) =
(—8) + (+9) =
(+8) + (+7) =
(+9) + (-1) =
(+6) + (-7) =
(-1) + (-5) =

(+8) + (+5) =

(+7) + (+5) =
(-9) + (-9) =
(=5) + (=3) =
(1) + (-4 =
(=3) + (-1 =
(-9) + (+2) =
(—4) + (+5) =
(+5) + (-=7) =
(—=8) + (+2) =
(=2) + (-2) =
(=2) + (-8) =

(+3) + (-8) =

Number lines are
on the following

page

(=8) + (-6) = (-14)
(+6) + (+9) = (+15)
(+6) + (+8) = (+14)
(=6) + (-6) = (-12)
7+ (-=7) = (-14)
(+9) + (-6) = (+3)
(=9) + (=7) = (-16)
(=8) + (+9) = (+1)
(48) + (+7) = (+15)
+9) + (- = (+8)
#6) + (-1 = (=)
(1) + (-5 = (-6)

(+8) + (+5) = (+13)

(+7) + (45) = (+12)
(9 + (=9 = (-18)
=5+ (-3)= (-8)
D)+ (4= (-5
N+ (D= (4
9+ ()= (-7
(=4 + (#5) = (+1)
#5)+ (-7 = (-2)
-8+ (+2) = (-6)
)+ (2= (-4
(=2) + (-8) = (-10)

G+ 9= (-5

12
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You can rip this page out to make it easier to use. Additional copies available ©

-20 -19 -18 -17 —-16 -15 —14 -13 -12 -11 -10

-9

-8

-7

-6

-5

—4

-3

-2

—1

0

9 10 11 12 13 14 15 16 17 18 19 20

-20 -19 -18 -17 -16 -15 —14 —-13 -12 -11 -10

-9

-8

-7

-6

-5

—4

-3

-2

-1

0

9 10 11 12 13 14 15 16 17 18 19 20

-20 -19 -18 -17 -16 —15 —14 13 —-12 —-11 -10

-9

-8

-7

-6

-5

—4

-3

-2

-1

0

9 10 11 12 13 14 15 16 17 18 19 20

-20 -19 -18 -17 —-16 —-15 —14 -13 -12 11 -10

-9

-8

-7

—6

-5

—4

-3

-2

-1

0

9 10 11 12 13 14 15 16 17 18 19 20

-20 -19 -18 -17 -16 -15 —14 —-13 —-12 -11 -10

-9

-8

-7

-6

-5

—4

-3

-2

-1

0

9 10 11 12 13 14 15 16 17 18 19 20

13
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You can also use vertical number lines.
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Unit 1

Modelling: Subtracting negative & positive integers using a number line.

We all like to feel pretty good. Imagine that someone comes along and takes away your
positivity —that would make you more negative right? It is the same with numbers. If you are
taking away positivity (+ number) then it becomes more negative. Same if you take away
someone’s negativity (- number) then it will be more positive!

Put a dot for your starting value, then move to the:
o LEFT if subtracting positivity (+)

o RIGHT if subtracting negativity (-) -(-) subtracting a (-) means we are adding

Example 1. (+4)-(+7)=

-20 -19 -18 -17 -16 -15 -14 —-13 -12 -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Example2. (-8)- (+5) =

—20 -19 —-18 -17 -16 —15 —14 —13 -12 -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Example 3. (+4)-(-7)=

-20 -19 -18 -17 -16 -15 -14 -13 -12 -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12z 13 14 15 16 17 18 19 20

Example 4. (-10)-(-5) =

-20 -19 -18 -17 -16 -15 -14 —-13 -12 -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Example 5. (-10)-(-10) =

—-20 -19 —-18 -17 —-16 -15 -14 —13 -12 -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

15



Unit 1

Answer the questions by using the number lines or by doing the calculations in in your

head.
Additional number lines

Put a dot for your starting value, then move to the: are available.
o LEFT if subtracting positivity (+)
o RIGHT if subtracting negativity (-) -(-) subtracting a (-) means we are adding

+7) — (#3) = (+4) - (=7) =
Check your work with the
answer key below. (_9) - (_1) = (+5) - (_7) =
+7) - (-9) = (+9) - (+7) =
(-8 - (=7) = (+9) — (+4) =

(+7) — (+2) = (=5) — (+3) =

+7) = (#3) = (+4) (+4) - (=7) = (+11) (_4) - (_8) = (_6) - (+3) =
9 -CD= (=3 +5) = (=7 = (+12)
(+7) = (=9) = (+16) (+9) - (+7) = (+2) (+]_) - (—7) = (—2) — (+4) =
-8 -(-7N= (-1 [CROERCENCH)
(+7) - (+2) = (+5) (-5 - (+3) = (-8 (_6) — (+8) — (_|_4) — (+g) —
(-4 - (-8) = (+4) (=6) — (+3) = (-9)
(+1) = (-7) = (+8) (=2) - (+4) = (-6)
(-6) — (+8) = (—14) (+4) = (+9) = (-5) ( 6) (+2) B (+3) ( 7) B
(-6) — (+2) = (-8) (+3) = (=7) = (+10)
CH-(D= (9 (- (= @D (=8) — (+1) = (—4) = (=5) =
(+6) — (—4) = (+10) =N == (0
(-9) - (+5) = (-14) G - (9 = (+3) (+6) - (_4) = (—7) - (—7) =

=7n-(6= (-1

(=9) — (+5) = (+7) — (+4) =

(=7) - (-6) =

16
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Let’s practice all the addition & subtraction rules together now.

(+6) + (+6) = (—6) + (+5) =
(+8) = (=5) = (=7) - (+4) =
Check your work with the (_5) - (_9) = (_4) + (+8) =
answer key below.
(=9) + (-8) = (+5) + (+8) =
(+4) = (=9) = (=7) = (+7) =
(=5 + (+7) = (+8) — (+3) =
(+6) + (+6) = (+12) (-6) + (+5) = (-1) _ _ — _ _ —
(+8) = (=5) = (+13) =7 -4 =(-11) ( 7) + ( 6) o (+8) ( 7) o
=)= () (+E9= ()
CO+EH =17 45+ 48 = (1) (+6) — (-7) = (+6) — (-2) =
- (9=(13) (7 -7 = (1)
CD+ED= (42 @8- =
(NHEO=(13) (48 - (7= (13) (_6) o (_1) = (_3) o (_1) =
(+6) = (=7) = (+13) (+6) = (-2 = (+8)
CO-(D= 5  (H-CD= (+4) — (-7) = (=5) — (+6) =
H) - (D=(D) (=5 -8 = (1)
B-(D= (6  (D-(9= ()
(4 - (6= () )+ E)= (48§ (_8) - (_2) = (_2) - (_9) =
(=3)+ (+9) = (+6)
(—4) — (-6) = (+4) + (+4) =
(=3) + (+9) =

17



Unit 1

Using a multiplication table, let’s try these together:

Multiplying & Dividing Integers

Multiplication & Division

Same signs:
Positive answer

(-6) x (-5) = (+30)

x|1[/2)|3[(4|5(6|7[8]|9[10]11[12
1|1]|2|3|4|5]| 6| 7| 8| 9]10]11]12
2| 2| 4| 6|8|10[12]|14|16]| 18[20| 22| 24
3|(3|6|9]|12/15|18|21|24[27|30| 33|36
4 |4 |8 |12]|16|20| 24| 28| 32|36 | 40| 44|48
5| 5|[10]|15[20]|25 |30 |35([40 |45 |50]| 55|60
6| 6|12(18|24|30|36|42|48 |54 | 60| 66|72
7 | 7|14 |21|28|35|42| 49|56 |63 |70]| 77|84
8 | 8|16(24|32|40|48|56|64 72|80 88|96
9 | 9 (18|27 |36|45|54|63[72|81|90]| 99108
10| 10]20 (30| 40|50 | 60| 70| 80| 90| 100 110{120
11| 11|22 (33| 44|55| 66| 77| 88| 99| 110/ 121|132
12| 12|24 (36| 48|60 | 72| 84| 96 | 108 120[132 | 144

Different signs:
Negative answer

(-12) = (+3) = {-4)

7+(=7)
44 -4
—-6X6
27 +(-9)
—4 % (=7)
24 =8
—-9X%X2

6X9
—3x(-5)

Circle all equations that will have a positive answer:

64 -8
-120+10
—8x(-9)

—11+(-1)
—36+4
7% (—9)

—2%X(-8) =
—6=+1 =
120+ (—12) =

Circle all equations that will have a negative answer:

—9%10
9% 8
11x(-11) =

—54+(—6)
5%3
2+(-1)

10+-1 =
20+5 =
—24-=-3 =

8x(—-12)=

—80+(—10)=
—42+(—6) =
—6x(—=11)=

—56+7
—10+(-10)
—-9X%x3

18



Unit 1

Let’s practice all the multiplication & division rules together now.

You can calculate the answers in your head or use the multiplication table on the next

page.

Check your work with
the answer key below.

-9+1 = -9 1x (-

= -7
88— (-6)= —2 -72+(-9)= 8
-5-8 =-13 —4+7 = 3
—6+(—4)=-10 2+(-)= 1
~7—(-4)= -3 —48 = (-8)= 6
1¥+(-2)= -7 1-1 = o0
T+(=3)= 4 6+(-2)= 4
I1x6 = 6 1x(—4)= -4
9-9 = 0 7-8 = -1
§—(-7)= 15 —5+9 = 4
4x(-9)=-36 547 = 12
1%(-9)= -9 -2+ (—6)= 7
-4x2 = -8 99X (—4)=-36
=7-(-1)= -6 4x(=3)=-12
943 = 12 -4+ (-8)=-12
1-3 = -2 3-(-2)= -1
54+(-9)= —6 —-9+8 = -1
-1+8 = 7 —-6-7 =-13
44(-6)= -2 5% (-3)=-15
-20+(-5)= 4 6-6 = 0
49 +=(=T)= =7 2+2 = 1
2+8 = 10 =34+ (=3)= -6
=8 +(-2)=-10 -2x2 = -4
-2x7 =-14 -3-1 = -4
-8§x1 = -8 8 (—8)=—64

12 x (-11) =

—9 X (—12) =
~10 X 12
~11x8 =

~10 X (—10) =
108 = (-9) =

121 =11 =
—132 =12
10 x9 =
80 =10
10 X 11 =
8 x (—-9)
90 =10
11 x 10 =
—96 - 12
—120 + (—10) =
—80 = (—8)
1x(-8) =
48 + (-12) =
11 x(-7) =

84 +(-7) =

45 = (-5) =

=7 +(-7)
—21+(-3) =
—-25+(-5) =

15+ (-3)
—6 X (=5) =
~72 + (-12) =
24 = (—6) =
—-18+9 =
—81 =+ (-9) =
12 X (—4)
18 = (-2) =
—4 % (-11) =
—3x (-11) =
—10 X (=3)
3+(-1)
—-2X%x(-3) =
6x(-7) =
2% (-12) =
99 = (—9) =
12 X 12
—5X2
-5 X% (=7)
=77 = (-11) =
—14 = (-2) =
9% (-8)
—-5x%(-10) =
99 = (—11) =
-3+(-3) =

19



Unit 1

You can tear out this page to make it easier to reference

Multiplication & Division

Same signs:

Different signs:

===t Positive answer Negative answer —xt==

T (x5 = 420 121 13 B

x|1]12]|13/4|5]|6 (7 |8]9[10]11]12
1|1]|2|3|4|5| 6| 7| 8| 9|10]11]12
2| 2| 4| 6| 8|10]|12|14]|16]| 18|20 | 22| 24
3|3|6|9|12|15|18|21]|24|27|30( 33|36
4 | 4|8 |12|16|20| 24| 28| 32|36 |40 44 |48
5| 5|10]|15|20]|25|30|35|40 |45 |50 | 55|60
6| 6|12|18|24(30|36|42(48 |54 | 60| 66|72
7| 7|14 |21 |28|35|42|49|56|63|70| 77 |84
8 | 8|16|24|32|40|48|56(|64|72|80| 88|96
9| 9|18|27|36|45|54| 63|72 |81 |90 99108
10| 10|20 [30 ]| 40|50 | 60| 70| 80 | 90| 100] 110{120
11| 11|22 33| 44|55 | 66| 77| 88| 99| 110 121|132
12| 12|24 | 36 | 48|60 | 72| 84| 96 | 108| 120|132 | 144

20




Unit 1

21



Unit 1

- _
‘B E DM
= I % e £
Q © - e
- o w2
~ 8 5 7
) 0
er I 1) 2 9
(7] - —
7 I (=}
c| @ -
X
l Ieﬁr:‘of:i%wt
£
Try these:

(3% 4) = (7+9—10)

(10+2)X7+5—4

6X(8—3+5)+10

(10-6+8+2)x3

7= (4%2+9—10)

+ uonippy P
uvoipesqns N

(5x6)x1%+3-8+4 =
30x1%2+3-8+4 =
30x1+3-8+4 =
30+3-8+4 =
10-8+4 =
2+4 =

8x(10—6)+~2+4

8-(7-3)x(4+6)

10—6X5+(2+4)

(4+8+2-6)%x10

(10-—6+5)+9)x2
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Unit 1

Math 9 Adapted - LG 1 Expectation 3
Operations with Fractions

Fraction Rules Reference Sheet

Always change mixed numbers to 21 .7
improper fractions 3 3
Finding common denominator to make Butterfly method:
equivalent fractions 2 1
q - + — = — _I_ —
6 2 12 12
2 1
Ex.—+ = u
6 2
6x2=12
2x2=4 1x6=6
2>1 4 6
oA + < = — _I_ —_
6.2 12 12

Adding & Subtracting
(Must have a common denominator)

Multiplying 1
(multiply numerator, multiply denominator) 4

Dividing
(change to multiplication by flipping the
second fraction)

24



Unit 1

Fractions: Converting mixed fractions to improper fractions.

PN S /'" How many 4% are shown?
QAN AN !
f 4 4 f 4 4 4 3
| : ] %3
g 1 1 1 1 NN
NN X X V

+
3
Short cut == (. - =
|

1. The denominator is the same (4)
2. New numerator

a.  Multiply the whole number by the denominator (2 x4 = 8)

b. Then add the numerator to that number (8 + 3=11)

Example 1. 1 % =
3
Example 2. 5: =
4
Example 3. -30 =
1
Example 4. - 1OZ=

25



Unit 1

Convert each mixed fraction to an improper fraction.

95 = — 38 =— 8L
318 =— 32 = — 42
57 =— 24 =— 3%
33=— 61 = — 52
4= — 9% = — 75
65 = — 8 = — 6%
8k =— 75 =— 135
12 =— 45 = — 12
3 =— 355 =— 23
47 = — 64 = — 53

~
RN

|
Wi

N
W

)1
~Njw
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Unit 1

Converting mixed fractions to improper fractions.

How many 3rds are modelled in the picture?
How do we write this a mixed fraction?

3
= — +

3

We can also use a short cut to convert mixed humbers to improper fractions.

w |
w|w

1
+ - = -
3 3

How many 6ths are modelled in the
picture?

How do we write this a mixed fraction?

Steps:

Use the denominator in the mixed fraction as the denominator for the improper.
Divide the numerator by the denominator.

The whole number gives you the number of wholes.

The remainder gives you the numerator.

PoOd-

Example1. — = 43;

Example 2. 2

Example 3. % =

27



Unit 1

Convert each improper fraction to a mixed number.

\o‘{\’n

b—ll(.ﬂ
[Sa1108}

% 1)

67 _
12 —

107
15

116
15
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Unit 1

Adding and subtracting fractions.

When adding and subtracting fractions, the denominator NEEDS to be the SAME! Use the
butterfly method to solve.

Butterfly method:

1. Multiply denominators to find common denominator:

----------

_._F — = R R
6 2 12 12
6x2=12

2x2=4 1x6=6
2 <1 4 6
= 44—
6~ "2 12 12

*always multiply the numerator in the 1%t fraction 15t

3. Now add the fractions.

6 10

4. Now reduce.

10 5

12 6

You can use the same method for subtraction too!

29



Unit 1

1) — +

N
o|©

2) %+%=
3) %+%=
4) %+%=
5) %+%=
SR
0 53
0 %%
3 6

10) — - = =

Check your answers on the next page...
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Unit 1

Answers from previous page....

® !

19 5 23 3 12
r.,8_ s 18 28 3 5) L.2_ 3
[RERR T 20 * 20 20 1% ) 5
8 1
1i,2_ 2 2_ 4 _ 6) -- 5=
2) z+r34 = Tty & -T 1 o2 10
3 5 15
4 1 16 5 21 1 7) S .2
4, 1_ 1w . S5_ 2 1 710 20
3 T+ 20 " 20 20 1%
12 3 4 7 1 8 3= -
1.,2_ 38 4_  7_ 1 4 27 4
4 3+v3= etrteET BT 15
3 1
6y 1,3 _ 5.,.6_ 1_ J1 s "
2 "5 10 10 10 10 s 8
IR T I T

Adding and subtracting mixed numbers.

Step 1. Change to improper.
Step 2. Use butterfly method to solve.

Example 1. 12 + 4% =
7 5

Example 2. 4% - 25— =
3 6

NG
|
OV N

)
wn|\O
|
\O | L
|

\o|:
S|

3l=

Sl
1

8|3

NS

3o



Unit 1

15+2
6 17

15 2 _ %0 M _ 7 _ 38 _ 17
7 6 42 42 T 42 T 21 0 21
9.5 _ 81 2 _ s _ 1
Check your 579 T a5 45 T a5 %
Work © U_2 _ 10 18 _ 2 _ 46 _ 1
9710 90 ~ 90 %0 15 a5
131 _ 17 7 _ 110 _ 47
7 9 63 63 63 63
B _m @ _®_ B _1
9 4~ 36 36 36 12 = 12
10,10 _ 100 40 _150 _ 75 _ .9
4711 T 44 a4 o4 T 22 0 22
1o,2 _ 70,78 _ 148 1
7 - 217210 T~ 21 ‘A
7,3 _ 6 28 31 _ 23
89 T 72 72 T 72 72

14, ST _ 2% 513751 _ 139

9 717 T 153 "153 T 153 153

15,22 _ 255 132 _ 387 _ 129 _ 27

17 ~ 102 T 102 102 ~ 34 34



Unit 1

Multiplying Fractions
Simple: multiply the top (humerator), then multiply the bottom (denominator!

1£—l><%—— 11
.S 3_ -

TGS
X
Blw

X
W

(W]
W] =
X
Q) =
Il
—_
o]
0| =

w
N o
X
Nl W
wil N
X
Nell JF s
Il

= — 13.
872 278
51X3— 151X1——
274 273 7
o Lol o 86 o
372 77

1 5 N ] L1338

7. =X — = — 57371 "3%37 16
2 6 1.1 1 1.3 3
25)‘7:5 12§XZ=§

6.5_% L2048

1 2 Ak A T B 5X5 =35

— —_ — 7.1 7 1.5 5

8 3X3 “ 821716 “32%§ " 1g
1,33 BRI

> 2747 8 2737 6

7 1 oLl _ 1 5 8y 8 _ 36

9 X 372 6 777 49
8 3 - 1.5 5 1.3 3
TaXe =1 175X 3 = 2

HLXE_Z 133)(2_6

373 9 577 35

1 3 7.1 7 1.2 2
10. EX_ = — “ 337 u B 3%X5 =15
S o Ly3_ 3 w 2xd_ 3

" 2%5 10 3% T ;



Unit 1

Dividing Fractions
Keep 7% fraction  Flip multiplication to division Flip 2™ fraction

. 1.2_ 1 % 3 _ 3 u 5,6_ % _
43 4 2 8 6 7
Inversion Result
, 1 2 » 1 4 x
L= — _— = — 12, —+—— = =
8 3 4 5
; 1 4 » 1 2 x
—_——— = — _— = — 13. =+ = = =
5 9 8 7
4 3'2_ X = 14 1'5_ X =
8 3 27
S3.2_ Sl.r_
73 B 75 B
6 3’8_ X = 16 1.3_ X =
49 B 275 7 B
7 1’1_ X = 17 1.2_ X =
372 B 477 B
1,2 _1_3_3 5.6 _5
2 3 Y3T3T %27 % METITE
8. ——— = —]/ X — = ——
373 elebded e biel
L. e
2 3EFE TN S T e bbb
lebded ebleb
10 g;1=_x_=— 3.8_3.9_7% 1.3_1
92 “ 373178 " 3: 3757 3%
S 1r_ 1.2 2 1.2 _1
3727 3%17 3 VogT7 =%
g 2.3_24_8 1.2 _1
373°3%37 3 B3T3 =X
1.5 1.7 7 6 7 6
$37753%5° 15 7Ty =%
o22l_2.2_ 4 o 1ol _ 1
97275517 3 57175



